FRWBENAE $4T M0 E —HREX KEAR

£ H EERINIBEER B H
5 z = # E KX 5 z B HEE

7 EAH 2,558 2,855 5413 FIR/ER 401 426 827:  80.21%
B E A K 2,019 2,248 4,267 F2RER 245 295 540  73.97%
ZEEFE N 539 607 1,146 FEIW/ER 106 123 229!  83.88%
B E X 78.93%  78.74%  78.83% FABER 212 239 451F  79.40%
S ZHE (83. 39%) EIRER 205 222 427 81.96%
6% E X 89 102 191 84.89%
FIRERX 41 54 95:  79.83%
EFESRER 168 190 358:  80.45%
FIRER 64 68 132.  44.44%
Rl E & R FIOKRER 57 64 121;  90.98%
ﬁ 3«)] 5 EH 4,224 FNKRER 52 52 104  89.66%
BO®REN 43 FNRIRER 83 106 189  84.75%
9 L 4,267 FIBRER 59 59 118  84.89%
FiRY. Tt 0 FURER 38 33 71:  83.53%
EEEHE M 4,267 FIHRERX 116 129 245;  80.07%
FI6IRER 83 86 169  83.66%




